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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +6=15 2) +1=16
15-6= 16-1= -
2.
3) +1=10 4) +4=19
10-1= 19-4= >
4.
5) +2=20 6) +7=13
20-2= 13-7= >
6.
/) +3=19 8) +1=14
19-3= 14-1= !
8.
9) +11=16 10) +2=4
16-11= 4-2= >
10.
11) +5=20 12) +3=13
20-5= 13-3= -
12.
13) +1=9 14) +5=19
9-1= 19-5= =
14.
15) +10=20 16) +2=12
20-10= 12-2= -
16.
17) +7=18 18) +8=18
18-7= 18-8= o
18.
19) +1=11 20) +1=20
11-1= 20-1= .
20.
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ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations.

1) 9 +6=15 2) 15 +1=16
15-6= 9 16-1= 15

3 9 +1=10 4 15 +4=19
10-1= 9 19-4= 15

5) 18 +2=20 6) 6 +7=13
20-2= 18 13-7= 6

7) 16 +3=19 8) 13 +1=14
19-3= 16 14-1= 13

9 5 +11=16 100 2 +2=4
16-11= 5 4-2= 2

11) 15 +5=20 12) 10 +3=13
20-5= 15 13-3= 10

13) 8 +1=9 14) 14 +5=19
9-1=_ 8 19-5= 14

15) 10 +10=20 16) 10 +2=12
20-10= 10 12-2= 10

17) 11 +7=18 18) 10 +8=18
18-7= 11 18-8= 10

19) 10 +1=11 20) 19 +1=20
11-1= 10 20-1= 19

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

9

15

9

15

18

6

16

13

15

10

14

10

10

11

10

10

19

[ M ath ] www.CommonCoreSheets.com 1

1-10
11-20

95

90

85

80

75

70| 65]60|55|50

45

40

35

30

25

20115101 5{ 0




JL_

Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +1=20 2) +1=14
20-1= 14-1= -
2.
3) +7=9 4) +2=14
9-7= 14-2= >
4.
5) +1=17 6) +11=15
17-1= 15-11= >
6.
/) +1=12 8) +1=18
12-1= 18-1= "
8.
9) +3=19 10) +15=19
19-3= 19-15= >
10.
11) +7=17 12) +6=09
17-7= 9-6= .
12.
13) +1=13 14) +5=20
13-1= 20-5= =
14.
15) +3=18 16) +7=20
18-3= 20-7= -
16.
17) +1=19 18) +2=18
19-1= 18-2= o
18.
19) +1=11 20) +9=13
11-1= 13-9= .
20.
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ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations. Answers
1) 19 +1=20 2) 13 +1=14 19
20-1= 19 14-1= 13 t
2. 13
3) 2 +7=9 4) 12 +2=14 2
9-7=_ 2 14-2=_ 12 ¥
4. 12
5) 16 +1=17 6) 4 +11=15 16
17-1= 16 15-11= 4 >
6. 4
7) 11 +1=12 8) 17 +1=18 11
12-1= 11 18-1= 17 !
8 17
9) 16 +3=19 10) 4 +15=19 16
19-3= 16 19-15= 4 >
10. 4
1) 10 +7=17 1) 3 +6=9
11, 10
17-7= 10 9-6= 3
12 3
13) 12 +1=13 14) 15 +5=20
13, 12
13-1= 12 20-5= 15
14, 15
15) 15 +3=18 16) 13 +7=20
15, 15
18-3= 15 20-7= 13
16. 13
17) 18 +1=19 18) 16 +2=18
17. 18
19-1= 18 18-2= 16
18, 16
19) 10 +1=11 20) 4  +9=13
19, 10
11-1= 10 13-9= 4
20. 4
110 ]95]90]85]80|75]70]65]60]55] 50
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +2=17 2) +5=17
17-2= 17-5= "
2.
3) +2=12 4) +4=16
12-2= 16-4= >
4.
5) +2=9 6) +1=19
9-2= 19-1= >
6.
7) +5=14 8) +5=9
14-5= 9-5= !
8.
9) +4=10 10) +12=18
10-4= 18-12= >
10.
11) +2=13 12) +1=16
13-2= 16-1= -
12.
13) +14 =19 14) +1=20
19-14= 20-1= =
14.
15) +7=18 16) +10=20
18-7= 20-10= -
16.
17) +2=20 18) +2=10
20-2= 10-2= o
18.
19) +1=9 20) +7=14
9-1= 14-7= o
20.
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ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations. Answers
1) 15 +2=17 2) 12 +5=17 15
17-2= 15 17-5= 12 -
2 12
3) 10 +2=12 4) 12 +4=16 10
12-2= 10 16-4= 12 >
4. 12
5) 7 +2=9 6) 18 +1=19 7
9-2= 7 19-1= 18 >
6. 18
7) 9 +5=14 8) 4 +5=9 9
14-5= 9 9-5= 4 !
8. 4
9) 6 +4=10 10) 6 +12=18 6
10-4= 6 18-12= 6 >
10, 6
11) 11 +2=13 12) 15 +1=16
11, 11
13-2= 11 16-1= 15
12, 15
13) 5 +14=19 14) 19 +1=20 s 5
19-14 = 5 20-1= 19 '
14, 19
15) 11 +7=18 16) 10 +10=20
15, 11
18-7= 11 20-10= 10
16. 10
17) 18 +2=20 1) 8 +2=10
17, 18
20-2= 18 10-2= 8
18. 8
19) 8 +1=9 20) 7 +7=14
19. 8
9-1= 8 14-7= 7
20. 7
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +9=18 2) +14=18
18-9= 18-14= -
2.
3) +1=15 4) +3=13
15-1= 13-3= >
4.
5) +5=19 6) +1=19
19-5= 19-1= >
6.
7) +10=18 8) +2=18
18-10= 18-2= "
8.
9) +3=14 10) +2=20
14-3= 20-2= >
10.
11) +5=8 12) +12=20
§-5= 20-12= .
12.
13) +2=9 14) +13=17
9-2= 17-13= =
14.
15) +2=6 16) +4=10
6-2= 10-4= -
16.
17) +3=19 18) +1=17
19-3= 17-1= o
18.
19) +12=18 20) +4=12
18-12= 12-4= o
20.
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ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations. Answers
1) 9 +9=18 2) 4 +14=18 9
18-9= 9 18-14= 4 -
2 4
3 14 +1=15 4 10 +3=13
15-1= 14 13-3= 10 > 1
4. 10
5 14 +5=19 6 18 +1=19
19-5= 14 19-1= 18 > 14
6. 18
7 8 +10=18 8 16 +2=18 7 o
18-10= 8 18-2= 16 |
8. 16
9 11 +3=14 19 18 +2=20 o 11
14-3= 11 20-2= 18 |
10, 18
11) 3 +5=8 12) 8 +12=20
8-5= 3 20-12= 8 H &
12, 8
13) 7 4+2=9 14) 4  +13=17
9-2= 7 17-13= 4 13' !
14. 4
15) 4 +2=6 16) 6 +4=10
6-2= 4 10-4= 6 51
16. 6
17 16 +3=19 18 16 +1=17
19-3= 16 17-1= 16 10
18. 16
19 6 +12=18 200 8 +4=12 . 5
18-12= 6 12-4= 8
20. 8
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +1=20 2) +6=19
20-1= 19-6= -
2.
3) +6=16 4) +1=18
16-6= 18-1= >
4.
5) +5=17 6) +2=17
17-5= 17-2= >
6.
7) +1=6 8) +6=11
6-1= 11-6= !
8.
9 +4=18 10) +2=20
18-4= 20-2= >
10.
11) +2=14 12) +9=14
14-2= 14-9= -
12.
13) +1=11 14) +9=16
11-1= 16-9= =
14.
15) +8=13 16) +7=14
13-8= 14-7= -
16.
17) +3=12 18) +9=15
12-3= 15-9= o
18.
19) +8=14 20) +7=12
14-8= 12-7= .
20.
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ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations.

1) 19 +1=20 2) 13 +6=19
20-1= 19 19-6= 13

3) 10 +6=16 4) 17 +1=18
16-6= 10 18-1= 17

5) 12 +5=17 6) 15 +2=17
17-5= 12 17-2= 15

7) 5 +1=6 8) 5 +6=11
6-1= 5 11-6= 5

9) 14 +4=18 10) 18 +2=20
18-4= 14 20-2= 18

1) 12 +2=14 1) 5 +9=14
14-2= 12 14-9= 5

13 10 +1=11 4) 7 +9=16
11-1= 10 16-9= 7

15) 5 +8=13 16) 7 +7=14
13-8= 5 14-7= 7

17) 9 +3=12 18) 6 +9=15
12-3= 9 15-9= 6

19) 6 +8=14 20) 5 +7=12
14-8= 6 12-7= 5

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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12
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12

10
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +3=19 2) +6=13
19-3= 13- 6= -
2.
3) +1=18 4) +1=14
18-1= 14-1= >
4.
9) +10=14 6) +8=20
14-10= 20- 8= >
6.
7) +1=20 8) +4=8
20-1= 8-4= "
8.
9 +6=9 10) +11=18
9-6= 18-11= >
10.
11) +2=17 12) +2=15
17-2= 15-2= -
12.
13) +2=16 14) +3=5
16-2= 5.3= =
14.
15) +6=18 16) +10=18
18-6= 18-10= .
16.
17) +9=11 18) +4=18
11-9= 18- 4= o
18.
19) +3=10 20) +4=11
10-3= 11-4= 19.
20.
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ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations.

1) 16  +3=19 2) 7 +6=13
19-3= 16 13-6= 7
3) 17 +1=18 4) 13 +1=14
18-1= 17 14-1= 13
5) 4 +10=14 6) 12 +8=20
14-10= 4 20-8= 12
7) 19 +1=20 8) 4 +4=8
20-1= 19 8-4= 4
9) 3 +6=9 10) 7 +11=18
9-6= 3 18-11= 7
11) 15 +2=17 12) 13 +2=15
17-2= 15 15-2=_ 13
13) 14 +2=16 4) 2 +3=5
16-2= 14 5-3= 2
15) 12 +6=18 16) 8 +10=18
18-6= 12 18-10= 8
17) 2  +9=11 18) 14 +4=18
11-9= 2 18-4= 14
19) 7 +3=10 20) 7 +4=11
10-3= 7 11-4= 7

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

16

v

17

13

4

12

19

15

13

14

12
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +5=13 2) +1=7
13-5= 7-1= -
2.
3) +13=18 4) +1=20
18-13= 20-1= >
4.
5) +1=18 6) +2=20
18-1= 20-2= >
6.
/) +5=17 8) +2=14
17-5= 14-2= "
8.
9) +5=8 10) +5=11
§-5= 11-5= 0
10.
11) +8=14 12) +1=8
14-8= g-1= "
12.
13) +16 =19 14) +4=11
19-16= 1-4= =
14.
15) +1=17 16) +2=19
17-1= 19-2= .
16.
17) +2=16 18) +14=19
16-2= 19-14= o
18.
19) +9=19 20) +4=10
19.9= 0-4= 19.
20.
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ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations. Answers
) 8 +5=13 2 6 +1=7 8
13-5= 8 7-1=_ 6 -
2 6
3) 5 +13=18 4) 19 +1=20 5
18-13= 5 20-1=_ 19 >
4 19
5) 17 +1=18 6) 18 +2=20 i 17
18-1= 17 20-2= 18 '
6. 18
7) 12 +5=17 8) 12 +2=14 ; 12
17-5= 12 14-2= 12 '
8. 12
9) 3 +5=8 10) 6 +5=11 3
8-5= 3 11-5= 6 ?
10, 6
11) 6 +8=14 12) 7 +1=8
14-8= 6 8-1= 7 w0
12, 7
13) 3 +16=19 14) 7 +4=11 13 3
19-16= 3 11-4= 7 '
14, /
15) 16 +1=17 16) 17 +2=19
17-1= 16 19-2= 17 s 16
16, 17
17) 14 +2=16 18) 5 +14=19
16-2= 14 19-14= 5 m_ 1A
18. 5
19) 10 +9=19 20) 6 +4=10 o 10
19-9= 10 10-4= 6
20. 6
[ Math Y commoncorssnesscon 7 1120 [ 403055 20 15]20] 5 0
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +7=14 2) +4=16
4-7= 16-4= -
2.
3) +2=14 4) +4=10
14-2= 10-4= >
4.
5) +8=15 6) +1=14
15-8= 14-1= §
6.
7) +10=14 8) +16=18
14-10= 18-16= "
8.
9) +2=19 10) +2=15
19-2= 15-2= >
10.
11) +1=17 12) +1=3
17-1= 3-1=_ .
12.
13) +7=19 14) +5=19
19-7= 19-5= =
14.
15) +11=16 16) +2=9
6-11= 9-2= .
16.
17) +3=17 18) +5=12
17-3= 12-5=_ o
18.
19) +4=17 20) +4=12
17-4= 12-4=__ -
20.
[ Math Y commoncorssnesscon 8 1120 [ 403055 20 15]20] 5 0




ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations. Answers
1) 7 +7=14 2) 12 +4=16 7
14-7= 7 16-4= 12 t
2. 12
3 12 +2=14 H 6 +4=10
3, 12
14-2= 12 10-4= 6
4 6
5) 7 +8=15 6) 13 +1=14 7
15-8= 7 14-1= 13 >
6. 13
7 4 +10=14 8 2 +16=18 4
14-10= 4 18-16= 2 b
8. 2
9 17 +2=19 100 13 +2=15 17
19-2= 17 15-2= 13 >
10. 13
1) 16 +1=17 1) 2 +1=3
11. 16
17-1= 16 3-1= 2
12. 2
13) 12 +7=19 14) 14 +5=19
13. 12
19-7= 12 19-5= 14
14, 14
15) 5 +11=16 16) 7 +2=9 5
16-11= 5 9-2= 7 e
16. 7
1) 14 +3=17 1) 7 +5=12
17. 14
17-3= 14 12-5= 7
18. 7
19) 13 +4=17 20) 8 +4=12 13
19.
17-4= 13 12-4= 8
20. 8
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +1=18 2) +4=10
18-1= 10- 4= -
2.
3) +2=14 4) +8=19
14-2= 19-8= >
4.
5) +8=20 6) +3=20
20-8= 20-3= >
6.
/) +1=20 8) +9=20
20-1= 20-9= "
8.
9) +4=19 10) +4=17
19-4= 17-4= >
10.
11) +1=19 12) +8=16
19-1= 16- 8= -
12.
13) +6=20 14) +11=15
20-6= 15-11= =
14.
15) +10=17 16) +1=17
17-10= 17-1= .
16.
17) +9=19 18) +6=12
19-9= 12-6= o
18.
19) +5=17 20) +3=19
17-5= 19-3= o
20.
QT [P - B 3




ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations. Answers
) 17 +1=18 2 6 +4=10
L 17
18-1= 17 10-4= 6
2. 6
3 12 +2=14 H 11 +8=19 1
14-2= 12 19-8= 11 >
4. 11
5 12 +8=20 6) 17 +3=20 19
20-8= 12 20-3= 17 >
6 17
7 19 +1=20 8 11 +9=20 19
20-1= 19 20-9= 11 b
8. 11
9) 15 +4=19 10) 13 +4=17 15
19-4= 15 17-4= 13 >
10. 13
11) 18 +1=19 12) 8 +8=16
11. 18
19-1= 18 16-8= 8
12. 8
13) 14 +6=20 14 4 +11=15
13. 14
20-6= 14 15-11= 4
14, 4
15) 7  +10=17 16) 16 +1=17 7
15.
17-10= 7 17-1= 16 °
16. 16
17) 10 +9=19 1) 6  +6=12
17. 10
19-9= 10 12-6= 6
18. 6
19 12 +5=17 200 16 +3=19
19. 12
17-5= 12 19-3= 16
20. 16
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction Relative to Addition Name:
Deter mine which number correctly answer s both equations. Answers
1) +6=16 2) +1=10
16-6= 10-1= -
2.
3) +4=18 4) +6=14
18- 4= 14-6= >
4.
5) +2=20 6) +6=18
20-2= 18-6= >
6.
/) +1=14 8) +1=20
14-1= 20-1= "
8.
9 +1=11 10) +7=9
11-1= 9-7= >
10.
11) +2=14 12) +1=18
14-2= 18-1= -
12.
13) +1=3 14) +8=13
3-1= 13-8= =
14.
15) +2=16 16) +1=17
16-2= 17-1= .
16.
17) +8=20 18) +5=10
20-8= 10-5= o
18.
19) +16=18 20) +2=19
18-16= 19-2= -
20.
QTIPS T, N 2 o




ﬂh Subtraction Relative to Addition

Name:

Answer Key

Deter mine which number correctly answer s both equations. Answers
1) 10 +6=16 2) 9 +1=10
1 10
16-6= 10 10-1= 9
2, 9
3 14 +4=18 49 8 +6=14
3 14
18-4= 14 14-6= 8
4. 8
5) 18 +2=20 6) 12 +6=18 18
20-2= 18 18-6= 12 >
6. 12
7) 13 +1=14 8) 19 +1=20 13
14-1= 13 20-1= 19 !
8, 19
9) 10 +1=11 10) 2 +7=9
9. 10
11-1-= 10 9-7= 2
10. 2
11) 12 +2=14 12) 17 +1=18
- 11. 12
14-2= 12 18-1= 17
1. 17
13) 2  +1=13 14) 5 +8=13
13. 2
3-1= 2 13-8= 5
14. 5
15) 14 +2=16 16) 16 +1=17
15. 14
16-2= 14 17-1= 16
16. 16
17) 12 +8=20 18) 5 +5=10
17. 12
20-8= 12 10-5= 5
18. 5
19) 2 +16=18 20) 17 +2=19 o 5
18-16= 2 19-2= 17 '
20. 17
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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